INSTALLATION MANUAL

cablematic p



pcnou
Rectángulo

pcnou
Rectángulo

pcnou
Buy on cablematic

pcnou
Rectángulo


| NOTE: Read the

before you start installation and asse

/\ WARNING

+ Do not begin the installation until you have read and understood all the instructions
and warnings contained in this installation sheet. If you have any questions
regarding any of the instructions or warnings, please contact your local distributer.

= I'his mounting bracket was designed to be installed and utilised ONLY as
specified in this manual. Improper installation of this product may cause damage
or serious injury.

* This product should only be installed by someone with good mechanical abiiity
who has hasic building experience and fully understands this manual.

* Make sure that the supporting surface will safely support the combined weight of
the equipment and all attached hardware and components.

= Always use an assistant or mechanical lifting equipment to safely lift and position
the equipment.

= Tighten screws firmly, but do not aver tighten. Over tightening can cause damage
to the items, This greatly reduces their holding power.

= This productis intended for indoor use only. Using this product outdoors could
lead to product failure and personal injury.

cablematic

144

hecklist
IMPORTANT: Ensure thal you have received all parts aceording 1o the camponont chaoklist prior to instailation
i any parts are missing or faully, lelephona you local distitbotorn for a replacement.

top pipe (x1} bottom pipo (k1)
A [k}
P t:.b

2 ;}D L Iu'f f—( S .

£ it e K] e ’

‘ﬁéf) G 4! o
small plastic big plastic  connect plate (x1) universal plato (x1) ndapter bracket (x2)
bushing (x1) bushing (x1) F G H

D E

Package M

i

(| i )

M5x14 (x4) MBx14 (x4) MB8x20 (x4) MGX30 (x4)
M-A M-B M-C M-D

4 l .ﬁ 1 \ \
o I ) '
)
MBx30 (x4) washer (x4) small spacer (x8) big spacer (x4)
M-E M-F M-G M-H
Package P
MEX60 (x1) MBx50 (x1) MBx55 (x1) M8x14 (x2)
P-A P-B P-C P-D
= o
o =;¢¢¢ 2
M8 nut (x4) D8 88.5x@16 washer (x5) washer (x4) 210.5x020 washer (x1)
P-E P-F P-G P-H
s Iy —
L =
(o (B3 =
a8 .5xe17.5 washer (x3}) M8 iron knob {x1) M8x70 iron expansion bolt (x4)
P- P-g P-K

k2


pcnou
Rectángulo

pcnou
Buy on cablematic


3. Assembling the Pipes o

1, Marking the Mounting Hole Locations

- Run power cable through pipe.
NA
a
[jo
il
[ 4]
]
il
i m
] i
i
]
] f
[Hao
@
] b
[ i
| @
@ o )
i /
i » "
( -
i
o i 1
‘ 1 0 ]
i
0 [}
[ & Il
\> ] ’ b
A = l:...!
v) 8 0
b
B P-F
5 i o p-C é _____ ?
J—'i B PE
Q
o
[¥) \
a e
Attach botto etotop pipe
o 9 and fix them e desired
cablematic L  washerand nut.
e 4

34


pcnou
Rectángulo

pcnou
Buy on cablematic


4. Assembling the UniversalPlate - .~ = -7 5. For Solid Brick and Concrete Mounting

(1.1

- A },“’
. 1 .. ;
iy

1 12m '5.,
ku 112"

Drill four

pllotholes  screw ceiling
mount on the
ceiling

A Tlghtin/ﬁiﬁ. not over
tighten, o

Installers mu.é't v ify that the supportmg surface will safely su p_ort the combined weight

Assemble the universal plate and bottom pipe with connect plate. Using correct combination of screws, ~ofthe equipment d-_hardware and compone|
washers, nuts and iron knob. il : i

54 wh B


pcnou
Rectángulo

pcnou
Buy on cablematic


6.Installing the Adapter Brackets i _
. ' ' 7. Hanging the TV onto the Universal Plate

V b X

] N.pté: .C;h'om_sé the appropriate screws, washers |
and spacers (if necessary) according to the
fype of screen. ~

~ * Position the adapter brackets as close as

_ possible to the center of the display. : i
* Bcrew the adapter brackets onto the display.

o |

Tighten all s-brews but do not over
= tighten. G :

Attach the TV onto the universal plate and
tighten the safety screws with a proper ’
screwdriver. "

Make sure the TV is safely secured before
reteasing. . s

T ‘ cablematic

8


pcnou
Rectángulo

pcnou
Buy on cablematic


8. Adjustment

Btis secure and safe to use at regular Intarvals(at least ovory three mo

srdistributor If you have any quaestions,

%,::;

cablematic

- Loosen the knob and adjust to
the desired angle, then tighten
it.

Qe


pcnou
Rectángulo

pcnou
Rectángulo

pcnou
Buy on cablematic


